Air Cylinder

Series CS1

2125, 9140, 9160, 180, 9200, 250, 6300

Variations
Standard variations i
Series Action Style Basic style e Page
Rod boot||Copper free (mm)
Standard 125
Series CS1 Lube ¢ ¢ 140
160
180
Single rod 200
— Series CST Non-lube ——@ ® ® o0 | [1142
(2125 to @160 Only)
125
— Air-hydro @ L 140 =
160
Double|_|
acting
125
160
180
Double rod 200
— Series Non-lube @ L 288 1.14-21
CS1w
Series CS1W
125
= Air-hydro @ 140 =
160
Low friction
Series CS10JQ
Single rod 125
Doubl
acing. Series Non-lube ——@ ® 140 (=1.14-30
cs10Q 160
Applicable Auto Switch (Applicable bore size: 3125 to 200 only)  Made to Order
Reed Band mounting D-A3/A4
switch . . Refer to p.5.4-1
Tie rod mounting D-A5/A6, D-A59W for made to order
] specifications for
Solid state | Band mounting D-G3/K3 series CS1.
swich ' . D-F50/J50, D-F5NT, D-F5O0W/J59W,
Tie rod mounting D-F5BA. D-F50IF

1.14-1




N MPaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX n3MeHeHuA

Komnanus SMC coxpansieT 3a cobol

S
3

IHeBMATHYECKH LMNHHAP

651

@125 ~ 300

lMpumeHseTca B kayecTse npueoga ¢ yeunuem o 68500 H

B CTaHOAPTHOM UCNONHEHUW NpedyCMOTPEHO BO3AYLIHOE }J,eMI'IqI)I/IpOBaHI/Ie KOHEYHbIX MONIOXEHNI
o Bo3MoxHo 1cnonHexue ¢ ABYCTOPOHHUM LLUTOKOM

o [poyHas KOHCTPYKLMs kopryca
o [oTepu Ha TpeHue He bonee 5%
o He TpebyeT cmasku

o [THeBMO- rAPO UCTIONHEHNe

TeXHHYECKHe XapaKTepucTHKH

[nametp nopLuHs (M) 125 140 160 180 200 250

[lnameTp nopLUHEBoro LuToka (Mm) 36 36 40 45 50 60

Pe3bba nopLUHEBOro LToka M30x1.5 | M30x1.5 | M36x1.5 | M40x1.5 | M45x1.5 | M56x2 M64x2
lMpucoepuHuTeNbHas pesbba 1/2 1/2 3/4 3/4 3/4 1 1
MoHTaXHOe nonoxeHue MPOU3BOMbHOE

[lonycku no anuHe xoga (Mm)

0o 250 +1.0/-0, go 1000 +1.4/-0, go 1500 +1.8/-0, go 2000 +2.2/-0, go 2400 +2.6/-0

Cpega

QuuLLiEHHBI CXaTblli BO3AYX C COfepXaHnem mMacna unim 6es Hero

[uanasoH pabouux gasnexui (MMa) 0.05~0.97
Temneparypa okpyxaioleii cpegpl (°C) | Ot 0 go +70
CKOpoCTb xoAa nopLukst (Mm/c) 50~500

MaKkcumanbHo BO3MOXHAs ANKHA Xoa UHAHKApPA (MM)

VcnonHeHue ¢ makcumanbHoi Temneparypoii +150°C - no sanpocy

Marepuan runb3el | AniomuHmesslil cnnag | Cranb
Tun kpennenus* | B,G,C,D, T | L, F B,G,C,D |LF
2125 1000 1400 1000 1600
2140 1000 1400 1000 1600 ”nmep 1ng 3aKa3a
2160 1200 1400 1200 1600
2180 1200 2000
@200 1200 2000 C S1 ,__L_H___H_N__H160||TF| _|300| -
@250 1200 2400 —I
2300 1200 2400
Onuum
*
O HOMEP A 3aKasa = | OprocropoHHuit wrok (cranpapr)
l * © NOpLIHA [1BYCTOPOHHiA LUTOK
Tun kpenneHuns (Mm)
— XA...* | Mogucbukaumm KoHLa LuToka
= Bes marHuTHoro KonbLia B BasoBblii 125 | 200 (no chopwe u pasviepy). Cw. c1p. 5-15
D* | C MarHUTHbIM KONbLIOM L Ha nanax 140 | 250 XC6* | Hepxasetowwyii wrok
*VcnonHeHine ¢ MarHUTHBIM KONTbLIOM F MepepHuii dprianed 160 | 300 XC5* | Bbicokas Temneparypa 110°C
BO3MOXHO AUNA LIAMHAPOB =
C AnameTpoM MopLUHs He Gonee 200 MM. G Sapui Griaren Lo XB6* | Buicokas 'LeMHepaTypa
C | OpwHapHas onopa caagu -10 ~ 150°C
* B UCTIONHEHNAX C MarHUTHbIM KObLIOM D Peoiitias oopa caa XC14*| Mosoportian Uandha MoHTUpyeTcs
matepuan rub3sl - amMoMUHUIA. T LleHTpaJ'IbHaH ornopa Mpucoen. CO CMELLiEHIIEM OT UeHTpa
pe3bba XC15* | NameHeHue BbineTa wnunex
‘ MaTepuan rnbas * - Re XC10* | CpBoeHHblit ABYXLUTOKOBBbIi
[arumki nonoxeruns D-A54L P . TF | G MHEBMOLIANAHEAP (4-N03ULMOHHIIA)
U KperneHus AaTuvkoB — | ©125-160 | Anomuuii XC11*| Casoesi nHeswoumnHap
3aKasblBAOT OTAENbHO. 2180-300 | Cramb ° (3-N03ULMOHHBIN)
[MHeBMo- 1 rugpo- ucronHeHus uunuHapos CS1 F | 2125-160 | Cranb Xog (M) XC35* | [ononHuTenbHbili naTyHHbIii
Ha pabouee gasnexue fo 0.97 MiMa CKpeok
MOCTaBNAIOTCA MO 3arpocy. * XC4* | YounenHsiii ckpebok
Tun *o 3anpocy
— | Tpebyet cmasku

Homep ona 3aKasa npHHaANeXHOCTEH

PeMKOMNNEKT M Kpennenus WHIHKApa

N He Tpebyet cmasku

3awwra wroka (rocpp)

— | Bes sawrsl (craHgapr)

J HeiinoHoBas TkaHb 60°C

TepmocToiikas TkaHb 110°C

LiapHHPHLIA HAKOHEYHHK

@ NOPLUHA Pemkomnnekt ANA NCNONHEHWNA: erI'IJ'leHI/IB unnnHgpa

(Mwm) TpebyloLero cmasku| 683 CMasKi Ha nanax Ha conarie | Onopa [igoiiHas onopa Homep ana| @ nopu.
125 CS1-125A-PS | CS1N125A-PS | CS1-L12 | CS1-F12 | CS1-C12 | CS1-D12 sakasa | (ww)
140 CS1-140A-PS | CS1N140A-PS | CS1-L14 | CS1-F14 | CS1-C14 | CS1-D14 I-12 125
160 CS1-160A-PS | CS1N160A-PS | CS1-L16 | CS1-F16 | CS1-C16 | CS1-D16 ::: 1:3
180 CS1-180A-PS | CS1N180A-PS | CS1-L18 | CS1-F18 | CS1-C18 | CS1-D18 = 50
200 CS1-200A-PS | CSIN200A-PS | CS1-L20 | CS1-F20 | €S1-C20 | C€S1-D20 B 200
250 CS1-250A-PS | CS1N250A-PS | €S1-L25 | CS1-F25 | CS1-C25 | CS1-D25 125 250
300 CS1-300A-PS | CSIN300A-PS | CS1-L30 | CS1-F30 | €S1-C30 | CS1-D30 130 300

HaKoHeyHUK-BHIKa

Homep ana | @ nopLw.
3aKasa (Mm)
Y-12 125
Y-14 140
Y-16 160
Y-18 180
Y-20 200
Y-25 250
Y-30 300

5-31




N NpaBO Ha BHECEHNE TEXHUYECKNX U pa3MepHbIX N3MEHEHINI

Komnanus SMC coxpaHsieT 3a cob6o

O

SVC

MHeBMaTHYECKHIA LIMNHHADP

CS1

Paamepbi
ba3oBoe HcnonHeHue FA G 2-p 4l
C 3awwroit wroka _MM
N : ] B
23R £ ¢ ¢ =
[OnuHa pe3bbbl . -
A FIN I N |
H S +Xog M -1C
ZZ1v~&+ Xon ZZ+Xon B
@ nopw. (Mm) | *Xog (Mm) | AnuHa pesbbbi | A 0B (OC |[eD |@E | @EA|F FA | G J K M MM N P S
125 ~1000 47 50 |[145 (115 [36 (90 [59 [ 43 14 | 16 M14x15 |15 |27 M30x1.5 | 35 12 98
140 ~1000 47 50 [161 (128 [36 |90 [59 [ 43 14 | 16 M14x15 |15 |27 M30x1.5 | 35 1/2 98
160 ~1200 53 56 [182 (144 [40 (90 ([59 |43 14 | 185 [ Mi16x1.5 | 17 [305 M36x1.5 | 39 3/4 106
180 ~1200 60 63 [204 (162 [45 (115 (70 | 48 17 | 185 [Mi18x1.5 |20 |35 M40x1.5 | 39 3/4 111
200 ~1200 60 63 [226 (182 [50 (115 (74 | 48 17 | 185 [M20x1.5 |20 |35 M45x1.5 | 39 3/4 111
250 ~1200 67 71 277 |225 (60 (140 [86 [60 | 20 | 23 M24x15 |25 | 415 M56x2 49 1 141
300 ~1200 76 80 |[330 (270 (70 (140 [96 [60 [ 20 | 23 M30x1.5 |30 [515 M64x2 49 1 146
* MuHUMAIbHbIA X0, € 3aLLUTON WwToKa 30 MM
@ nopw. (Mm) | Bes sawwTsl wroka C 3awwuTon wtoka
H 77 @€ f h | 771
125 110 235 75 40 133 0.2 Xopa 258
140 110 135 75 40 133 258
160 120 256.5 75 40 141 2715
180 135 281 85 45 153 0.2 Xoga 299
200 135 281 90 45 153 299
250 160 3425 105 55 176 0.17 Xopa | 358.5
300 175 3825 115 55 190 387.5
THn Kkpennenus L ok S+
A K FIN N
. ) Al el 1,22 Fal 4~y
3aLUTON LITOKA MM pessbsl | =1~ _F[
1 le A ———————————— :f—? a
1
= 1
= =8 94 ] ¢-F 4-¢LD Z
f T
) :%
e ] s Yl x x|y
h 'L'L_J LS +Xon I
221+ 24+ Xon ZZ +Xon
@ nopw. (Mm) | *Xog (Mm) | AnuHa pesbbbi | A 0B 0c @D oE oEA | F FA G J K MM N P S
125 ~1400 47 50 | 145 115 | 36 90 59 43 14 16 M14x1.5 15 | M30x1.5 | 35 1/2 98
140 ~1400 47 50 | 161 128 | 36 90 59 43 14 16 M14x1.5 15 | M30x1.5 | 35 1/2 98
160 ~1400 53 56 | 182 144 | 40 90 59 43 14 18.5 M16x1.5 17 | M36x1.5 | 39 3/4 106
180 ~1800 60 63 | 204 162 | 45 115 | 70 48 17 18.5 M18x1.5 20 | M40x1.5 | 39 3/4 111
200 ~1800 60 63 | 226 182 | 50 115 | 74 48 17 18.5 M20x1.5 20 | M45x1.5 | 39 3/4 111
250 ~2000 67 71 277 225 | 60 140 | 86 60 20 23 M24x1.5 25 | M56x2 49 1 141
300 ~2000 76 80 [330 270 | 70 140 | 96 60 20 23 M30x1.5 30 | M64x2 49 1 146
@ nopL. (Mm) be3 sawuThl Wroka C 3awwuToit Wwroka
X Y LD LH LS LT LX LY H Y74 oe f h | ZZ1
125 45 20 19 85 188 8 100 1575 | 110 273 75 40 133 0.2 Xopa 296
140 45 30 19 100 188 9 112 180.5 | 110 283 75 40 133 306
160 50 25 19 106 206 9 118 197 120 301 75 40 141 322
180 60 30 24 125 231 10 132 227 135 336 85 45 153 0.2 Xoga 354
200 60 30 24 132 231 10 150 245 135 336 90 45 153 354
250 80 40 29 160 301 12 180 2985 | 160 421 105 55 176 0.17 Xopa 427
300 90 40 33 200 326 15 212 365 175 451 115 55 190 466

1-83



MHeBMaTHYECKHil UHIHHAD

CS1

Pasmepbi

Tnn Kkpennenns F

KA FA G 2-Rc(PT)P
C 3awuToit lWTOKA
MM
!(
2 Sl -
[nuHa =l
pe3bobi FT
g gt AR ooy
Z21+2+ Xon I ZZ+Xon
@ nopu.| *Xog (Mwm) OruHa | A B 0B ic oD | ok oEA| F FA | G J K M1 | M2 [ MM N P S
(Mm) peab6bl (Re)
125 ~1000 47 50 145 | 145 | 115 36 | 90 59 43 14 | 16 M14x1.5 15 22 22 | M30x1.5 35 12 | 98
140 ~1000 47 50 160 | 161 | 128 | 36 | 90 59 | 43 14 | 16 |[Mi4x15 | 15 19 | 19 | M30x1.5 | 35 12 | 98
160 ~1200 53 56 180 | 182 | 144 | 40 | 90 59 | 43 14 | 185 [Mi6x1.5 | 17 22 | 22 | M36x15 | 39 3/4 | 106
180 ~1200 60 63 200 204 | 162 | 45 | 115 70 | 48 17 | 185 [M18x1.5 | 20 26 | 26 | M4oxi5 | 39 34 | 111
200 ~1200 60 63 225 | 226 | 182 50 115 74 48 17 | 185 |M20x15 | 20 26 26 | M45x1.5 39 3/4 | 111
250 ~1200 67 71 275 | 277 | 225 60 140 86 60 20 | 23 M24x15 | 25 30 30 | M56x2 49 1 141
300 ~1200 76 80 330 | 330 | 270 | 70 | 140 | 96 | 60 20 [ 23 |M30x15 | 30 36 | 36 | M64x2 49 1 146
@nopw.| gFD | FT FX FY FZ Be3 3awuthl LWToKa C 3awwuToif Wwroka
(Mmm) H 7z ge |f h | ZZ1
125 19 14 190 | 100 |230 |110 230 75 | 40 133 | 0.2 Xoga 253
140 19 20 212 | 112 (255 |110 227 75 | 40 133 250
160 19 20 236 | 118 (275 |120 248 75 | 40 141 269
180 24 25 265 | 132 (320 |135 272 85 | 45 153 | 0.2 Xopa 290
200 24 25 280 | 150 (335 |135 272 9 | 45 153 290
250 29 30 355 | 180 |420 (160 331 105 | 55 176 | 0.17 Xopa | 347
300 33 30 400 | 212|475 (175 357 115 | 55 190 372
Tun Kkpennexus 6
FA_ G 2P - 4-¢FD 4-J
C 3awuToi WToka MM . by
H e =
AN
5[ ®- &gl
%
OnvHa =
peabObl
A KILF [N N
S+ Xog 1 FT
ZZ+ Xon
@ nopu. | *Xog (Mm) Onura | A B 0B |0OC oD | oE oEA| F FA |G J K MM N P 5
(mm) peab6bl (Re)
125 ~1000 47 50 145 (145 | 115 | 36 | 90 59 43 14 |16 M14x1.5 | 15 M30x1.5 | 35 | 1/2 | 98
140 ~1000 47 50 160 | 161 | 128 | 36 | 90 59 43 14 |16 M14x1.5 | 15 M30x1.5 | 35 | 1/2 | 98
160 ~1200 53 56 180 | 182 | 144 | 40 | 90 59 43 14 185 | M16x15 | 17 M36x1.5 | 39 | 3/4 | 106
180 ~1200 60 63 200 (204 | 162 | 45 | 115 | 70 48 17 185 | M18x1.5 | 20 M40x1.5 | 39 | 3/4 | 111
200 ~1200 60 63 225 [ 226 | 182 | 50 | 115 | 74 48 17 (185 | M20x1.5 | 20 M45x1.5 | 39 | 3/4 | 111
250 ~1200 67 71 275 | 277 | 225 | 60 | 140 | 86 60 | 20 |23 M24x1.5 | 25 M56x2 49 | 1 141
300 ~1200 76 80 330 | 330 | 270 | 70 | 140 | 96 60 | 20 |23 M30x1.5 | 30 M64x2 49 | 1 146
@ nopw.| gFD | FT FX FY FZ Bes 3awurel LwWroka C 3aLuToit Wwroka
(Mm) H 7z ge | f h | Y24
125 19 14 190 | 100 | 230 | 110 | 222 75 | 40 133 | 0.2 Xoma 245
140 19 20 212 | 112 | 265 | 110 | 228 75 | 40 133 251
160 19 20 236 118 275 | 120 | 246 75 40 141 267
180 24 25 265 | 132 | 320 | 135 | 271 85 | 45 153 | 0.2 Xoma 289
200 24 25 280 | 150 | 335 | 135 | 271 9 | 45 153 289
250 29 30 355 | 180 | 420 | 160 | 331 105 | 55 176 | 0.17 Xoga 347
300 33 30 400 | 212 | 475 | 175 | 351 115 | 55 190 366

1-84




2 SNIC MHeBMATHYECKMl LMAHHAD
CS1

Pasmepbl

Tun Kkpennexus C
FA .G 2P

.

MM #CDHI0

w

0,

: _“_{o

] oY
kS 04 T ¢ ¥
OnuHa
Pe3blbl e
A FIN] N

S+ Xon

[ Z1+?+Xo Z+ Xon
7Z1 + 8+ Xop, ZZ+ Xon 8

gnopw. | *Xog (vm) | dmuwa | A 0B 0c oD | oE oEA | F FA | G J K MM N P RR | S
(vm) peab6bl (Re)

125 ~1000 47 50 145 115 36 90 59 |43 14 | 16 M14x1.5 15 M30x1.5 35 12 29 98
140 ~1000 47 50 161 128 36 90 59 |43 14 | 16 M14x1.5 15 M30x1.5 35 12 32 98
160 ~1200 53 56 182 144 40 90 59 |43 14 | 185 | M16x1.5 17 M36x1.5 39 3/4 36 106
180 ~1200 60 63 204 162 45 115 70 | 48 17 185 | M18x15 | 20 M40x1.5 39 3/4 44 11
200 ~1200 60 63 226 182 50 115 74 | 48 17 185 | M20x1.5 | 20 M45x1.5 39 3/4 44 111
250 ~1200 67 71 277 225 60 140 86 | 60 20 |23 M24x15 | 25 M56x2 49 1 55 141
300 ~1200 76 80 330 270 70 140 9% | 60 20 | 28 M30x1.5 | 30 M64x2 49 1 68 146
@ noplL. U @CDH10 CT CX be3 3aiuthl LWToKa C 3awuToil wroka

(Mm) H z 74 ze f h I Z1 771

125 35 25 0% 17| 327, 110 273 302 75 40 133 | 0.2 Xoma 296 325

140 40 | 282 17| 362 110 283 315 75 40 133 306 338

160 45 32 4% 20 407, 120 306 342 75 40 141 327 363

180 50 40 2 23| 502 135 336 380 85 45 153 | 0.2 Xoma 354 398

200 50 40 0 25 50 ¢, 135 336 380 90 45 153 354 398

250 65 50 ,'° 30| 637, 160 411 466 105 55 176 | 0.17 Xoga 427 482

300 80 63, 37 80 7. 175 451 519 115 55 190 466 534

Tnn Kkpennenus D

1 NpaBo Ha BHECEeHNEe TEXHNYECKUX N Pa3MepPHbIX N3MEHEHN

KomnaHusa SMC coxpaHsieT 3a cobo

FA G _ 2P G 4-J
REaR —
C 3awuroii wroka MM | $CDHI0
: : \ - Y ;-' HH _—\ /
2 siRl EJ31re e ITE
f ;
Jnuka i =3 / )
peabobl fu o
A KILFN N u CX
H T S+ Xon L [0
21+ ¢+ Xop Z+  Xon RR _C
ZZ2 7 £+ Xon ZZ+ Xon B
@ nopw. | *Xog (vm) | dmuwa | A B C @D oE oEA | F FA | G J K L MM N P RR | S
(Mm) peabbl (Re)
125 ~1000 47 50 145 115 36 90 59 43 14 16 M14x1.5 15 65 M30x1.5 35 1/2 29 98
140 ~1000 47 50 161 128 36 90 59 43 14 16 M14x1.5 15 75 M30x1.5 35 1/2 32 98
160 ~1200 53 56 182 144 40 90 59 43 14 185 | M16x1.5 17 80 M36x1.5 39 3/4 36 106
180 ~1200 60 63 204 162 45 115 70 48 17 18.5 | M18x1.5 20 90 M40x1.5 39 3/4 44 111
200 ~1200 60 63 226 182 50 115 74 48 17 18.5 | M20x1.5 20 90 M45x1.5 39 3/4 44 111
250 ~1200 67 71 277 225 60 140 86 60 20 23 M24x1.5 25 110 M56x2 49 1 55 141
300 ~1200 76 80 330 270 70 140 96 60 20 23 M30x1.5 30 130 M64x2 49 1 68 146
@ nopLL. U @CDH10 CT | CX (074 be3 3auuThl LWTOKA C 3aLuToit Wwroka
MM ae
(Mm) H Z 7z f h | Z1 771
125 35 | 25 17 |32 64, |10 273 32 | 75 40 | 133 | 02Xoma 206 | 325
140 40 | 280 17 |36 72%, |10 283 315 | 75 40 | 133 306 | 338
160 45 | 320 20 |40 80°, 120 306 42 | 75 40 | 141 327 | 363
180 50 | 400 23 |50 100°, | 135 336 380 | 8 45 | 153 | 02Xoma 354 | 398
200 50 | 400 2% |50 100, | 135 336 380 | 90 45 | 153 354 | 398
250 65 | 50 30 |63% 126 | 160 411 466 | 105 | 55 | 176 | 0.17Xoma | 427 | 482
300 80 | 63°% 37 |80 1602 [ 175 451 5199 | 115 | 55 | 190 466 | 534

1-85



MHeBMaTHYECKHil UHIHHAD

CS1
Paamepbi

Tun kpennenus T

C 3awuToi WToka Z+ Y% xon
2140+ Y% X08 " FALS 2p —-
Ty T Q|
\ :I- o
\
g ¢35 F e o 15
|
[Onuqa L
A KILFIN N
htl H S+ X0 M
22+ 0+ Xo4 ZZ+ Xo0_
@ nopw| *Xog (Mm) OnvHa | A B |[OC oD | oE | oEA| F FA | G J K M MM N [P R S
(M) peab6bl (Re)
125 25~1000 47 50 145 | 115 36 90 59 43 14 | 16 M14x1.5 15 19 M30x1.5 |35 | 1/2 1 98
140 30~1000 47 50 161 | 128 36 90 59 43 14 | 16 M14x1.5 15 19 M30x1.5 |35 | 1/2 15 98
160 35~1200 53 56 182 | 144 | 40 90 59 43 14 | 185 | Mi6x1.5 17 | 22 M36x1.5 |39 | 3/4 1.5 106
180 30~1200 60 63 204 | 162 45 115 | 70 48 17 | 185 | M18x1.5 20 | 26 M40x1.5 |39 | 3/4 2 11
200 30~1200 60 63 226 | 182 50 115 | 74 48 17 | 185 | M20x1.5 20 | 26 M45x15 | 39 | 3/4 2 11
250 30~1200 67 Al 277 | 225 60 140 86 60 20 (23 M24x1.5 25 30 M56x2 49 |1 3 141
300 35~1200 76 80 330 270 | 70 140 | 96 60 20 |28 M30x1.5 30 | 36 M64x2 49 |1 4 146
@ nopw| #TDe8 T X TY TZ Bes 3awurel LWToKa C 3aLwuToif Wwroka
(mm) H z 7z oe f h | Z1 771
125 | 32°% 50 | 170 164 234 | 110 159 227 75 40 | 133 | 0.2Xoma 182 250
140 36 oo 55 190 184 262 110 159 227 75 40 133 182 250
160 | 40°% 60 | 212 | 204 202 | 120 173 248 75 40 | 141 194 269
180 | 45°% 50 | 236 | 208 326 | 135 4905 | 272 85 45 | 153 [ 02Xoma | 2085 290
200 |45°% 50 | 265 | 257 355 | 135 1905 | 272 90 45 | 153 2085 290
250 56 oo 69 335 325 447 160 230.5 331 105 55 176 | 0.17 Xoga 246.5 347
300 67 o5 79 400 390 534 175 248 357 115 55 190 263 372
Paamepbl W HOMep ANA 3aKa3a NPHHAQIEIKHOCTEH
IIapHHPHBLIH HAKOHEYHUK
A2
AW e T._*_ Howmep gnopw. | A1 | A2 | oF1 | L MM gNDH10 | NX | RR1 | U1
| T Ans 3akasa | (vm)
EL&:\L_-— - 4 112 125 8 54 46 100 | M30xi5 | 25°% | 32°% | 27 33
L -14 140 8 54 48 105 M30x1.5 28 365 | 30 39
u 116 160 8 60 55 110 | M36x15 | 32 40 | 34 39
‘ I-18 180 8 67 70 125 | Mdoxis | 407 50 | 425 | 44
'9,9 1-20 200 8 67 70 125 M45x1.5 407" 50, | 425 44
1-25 250 9 755 86 160 M56x2 50 7' 63, | 53 66
/] 1-30 300 9 845 | 105 | 175 | Mseax2 63 0" 802 | 66 71
HaKoHeYHUK-BHAKA
wN_U:;o YM "'i_i'
; C '"\T\ l Homep gnopw. | Al oE1 L1 MM @NDH10 [ NX NZ RR1 | U1
2‘;[ I 1 g ans 3akasa | (vm)
LT —— Y-12 125 8 46 100 | M30x15 25" | 325, | 640y | 27 42
b Y-14 140 8 48 105 | M30x15 28 | 3627 | 722 | 30 47
R Y-16 160 8 55 110 | M36x15 32 402 | 80 | 34 46
Y-18 180 8 70 125 | M40x15 40" 5027 | 1007%| 425 | 54
5 Y-20 200 8 70 125 | M45x15 40, 505: | 100%,| 425 | 54
X Y-25 250 9 86 160 | M56x2 50 632" | 126°| 53 81
@ﬂ Y-30 300 9 105 | 175 | Me4x2 63" | 80 | 1602 | 66 87

1-86




Air Cylinder/Double Rod

Series CSTW

Lube, Non-lube/a125, 3140, 5160, o180, 6200, 6250, 3300
Air-hydro/o125, 2140, 3160

How to Order

CS1W

125

100

JJ

7

CDS1W

125

100

JJ

A53

With auto switchT
(2125 to 2200)
Double rod
Mounting ¢
B | Basic .
L | Foot Tube malerlallc
F | Front flange Symbol | Bore size |Tube material
T | Centre trunnion __ |#1251t0 9160 |Aluminum tube
0180 to 9 300 | Steel tubing
F | 9125t0 9160 | Steel tubing
Style ¢ -
— T Lube y Bore size ———
Lube, Non-lube Air-hydro
Non-lube 2
ﬂ Air_hyL;m 125 [ 125mm 125 | 125mm
140 | 140mm 140 | 140mm
160 | 160mm 160 | 160mm
180 | 180mm
200,, 200mm
2507 250mm
300%| 300mm

# Auto switch style
is not available.

Applicable Auto Switches/Refer to p.5.3-2 for furt

Cylinder stroke (mm) ¢

her information on auto switch.

lNumber of auto switches
— 2
3 3
S 1
n n
b Auto switch

[ Without auto switch

* Select the applicable auto switch from
the table below.

*Rod boot/Cushion

Single J Nylon tarpaulin
rod boot K Heat resistant tarpaulin
Double JJ | Nylon tarpaulin
rod boot KK | Heat resistant tarpaulin

N Without cushion

R With cushion on rod side
H With cushion on head side
With double cushion
(Air-hydro style has

no cushion.)

Cushion
If specifying more than one symbol,

s
Q please indicate them in alphabetical order.

## The Air-hydro style has no cushion.

|8 - Load voltage Auto switch model | Lead wire length ) No symbol indicates no cushion.
Style|  Special function Electrical T Wiring Applicable
i B entry || (Output) DC AC |Tierod| Band |05 |3 |5 |y load
= =) |LV]E@
3 wire
» [(Equiv.toney| — | BV — | AS6 | — ® & —|— | c| —
R > 12v | — |A53| — | e |@|®—| | pc
5 rommet| | 12v [1oov200 [ AS4 | — | @ |@[@]— Relay, PLC
% R 2 5V, 12V — A67 — ® @ —|—| IC PLC
3 2wire | 2av 12V <200V | A64 — o0 —|— Relay, PLC
&’ Terminal — — A33 — | —|—|® PLC
conduit 2 12V - A34 —|—|—]|®]| —
DIN terminal | > 100V, 2000 Ad4 —|—|—|e Eﬁlély
Diagnostic indication (2 colour)| Grommet — — |A59W| — o0 —|—
3Wfre(::':) pavisv, ey — ool — 1@ @07,
Grommet 3 wire (PNP) FsP LEL LS
owire L—L— 100V, 200V | J51 — ® @0 O
_ wi _
= 12V J59 — ® 00| —
2 Terminal| |3 wire (NPN) 5V, 12V — G39 | — |—|—|e| Ic
4% conduit | @ | 2 wire 12V — K39 —|—|—]|®| —
(] > .
= 3 wire (NPN) F59wW| — ® 0 O — Relay
S |p; ic indicati 5V, 12V] I
- Dlagnt(:azstlmndlcatlon 3 wire (PNP) F5PW — e ®lO— C PLC
= oo v T [usew[ — e |efo]—
] i 12v — Part No. of Cylinder with Built-in Magnet
@ Water resistant (2 colour]Grommet 2 wire F5BAL| — ® 0 O y g
With timer 3 wire (NPN) sV 1oV F5NTL| — ® 00| — . In case of magnet built-in without auto
th diagnostic output (2 colour] 4 wire ' F59F — ® 0 O switch, there is NO symbol used. (Example)
Latch with diagnostic output _
(2 colour) (NPN) — FSLF| — | @ |@|O|—| — CDS1WB125-100
* Lead wire length symbol ~ 0.5m -+ — (Example) A53 * Solid state auto switch marked “O” is
3m e L A53L  manufactured upon receipt of order.
1 R z A53Z

O

SVC

1.14-21

e
CS1




Series CST1W

JIS symbol

Specifications
Style Lube/Non-lube Air-hydro
Fluid Air Turbine oil
Proof pressure 1.57MPa
Max. operating pressure 0.97MPa 0.97MPa
Min. operating pressure 0.05MPa 0.06MPa

Piston speed

50 to 500mm/s

0.5 to 200mm/s

Cushion With Without
No switch|0to 70°C (No condensation) Iy .

Ambient and fluid temperature [ - Air th?'
With switch |0 to 60°C (No condensation) 510 60°C

Thread tolerance

JIS 2 class

Stroke length tolerance

250 or less: *'-3 251 to 1,000: *141,001 to 1,200: *':8

Mounting

Basic, Foot, Front flange, Center trunnion

/\ Precautions

e e |

| Be sure to read before handling. :
1 Refer to p.0-39 to 0-43 for Safety Instructions

1 and common precautions. 1
T |
Made to Order

Refer to p.5.4-1 for made to order specifications for series CS1W.

Second Class Pressure Vessel

In case of exceeding the following strokes, use the second class pressure
vessel.

Bore size (mm) Cylinder stroke (mm)
200 998
250 813
300 564

Auto Switch Specifications

Refer to p.1.14-10 for auto switch specifications.

Minimum Strokes for Auto Switch Mounting

Refer to “Min. Strokes for Auto Switch Mounting” on p.1.14-8 for auto
switch min. mountable stroke.

Major Material and Surface Treatments

Description Material Note
Cover Rolled steel plate Black coated
2125, 5140, Aluminum alloy Hard anodized
Tube*  |2160 Carbon steel tube | Hard chrome plated
0180, 6200, 0250, 0300 | Carbon steel tube | Hard chrome plated
Lube NBR JIS B2401 O ring*
Sliding
seals Non-lube NBR PNY, NLP
Air-hydro NBR SKY, RPS
Piston rod Carbon steel Hard chrome plated
astiron Chromated
With auto switch, ;
Lube alu(mihurﬁuaﬁosy"\g;sting) (In case of aluminum alloy cast)
; Aluminum alloy cast Chromated
Piston | Non-lube (Steel tubing: Cast iron) |(In case of aluminum alloy cast)
Aluminum alloy cast Chromated

Air-hydro

(Steel tubing: Cast iron) | (In case of aluminum alloy cast)
Q * In case of an auto switch with bore sizes of 6180 and 6200, tube material is

aluminum alloy (hard anodized). Piston seal is NLP.

1.14-22

O

Weight/Aluminum tube: Lube style (Non-lube, Air-hydro style) (g)

Bore size (mm) 0125 2140 2160
. 16.51 19.62 26.65
B
asie (15.28) (18.12) (24.79)
-g Foot 18.14 2214 29.45
2 (16.91) (20.64) (27.59)
©
2] Front flange 19.19 24.62 33.04
m (17.96) (23.12) (31.18)
. 20.64 25.35 34.05
T
runnion (19.41) (23.85) (32.19)
Additional weight per 100stroke 2.57 2.76 3.38
Single knuckle joint 0.91 1.16 1.56
>
2
@ |Double knuckle joint
§ (Knuckle pin, Cotter pin) 1.87 1.81 248
<
Rod end nut 0.16 0.16 0.23

# () shows non-lube and air-hydro style.

Calculation method: (Example) CS1WL125-500

* Basic weight
* Additional weight
* Cylinder stroke

18.14+2.57 X 500/100=30.99kg

18.14 (Foot style, 125)
2.57/100Stroke
500Stroke

Weight/Steel tubing (kg)
Bore size (mm) 2125 | 140 | 2160 | 180 | 200 | 250 | 300
Basic 16.85|20.03 | 27.12 | 36.90 | 45.79 | 85.36 [122.39
%’ Foot 18.48 | 22.55|29.92 | 41.10| 50.67 | 94.86 |139.67
s
% Front flange 19.53|25.03 | 33.51 |46.73 |57.70 |107.20{152.59
©
m
Trunnion 20.98 | 25.76 | 34.52 | 47.52 | 59.78 |113.20(|162.82
Additional weight | 5 4¢ | 381 | 4.57 | 6.20 | 7.29 |11.30|15.17
per 100stroke
Single knuckle joint| 0.91 | 1.16 | 1.56 | 3.07 | 2.90 | 5.38 | 10.82
e —
Q | Double knuckle joint
@ | (Knuckle pin, | 1.37 | 1.81 | 2.48 | 4.74 | 459 | 9.22 |17.17
8 Cotter pin)
< Rodendnut | 0.16 | 0.16 | 0.23 | 0.32 | 0.85 | 1.26 | 1.43

Precautions
m Refer to p.1.14-4 for precautions.

SVC



Rod

Boot Materials

Air Cylinder/Double Rod Series CS1 W

Mounting Bracket

Symbol Material Max. ambient temp Bore size (mm)| 125 140 160 180 200 250 300
J Nylon tarpaulin 60°C Foot* CS1W-L12|CS1W-L14|CS1W-L16 |CS1W-L18|CS1W-L20|CS1W-L25 |CS1W-L30
K Heat resistant tarpanlin 110°C* Flange CS1-F12 |CS1-F12 |CS1-F16 |CS1-F18 |CS1-F20 |CS1-F25 |CS1-F30
* Max. ambient temperature for the rod boot itself * Order 2 foot brackets for one cylinder.
Accessories Auto Switch Mounting Bracket
. . Front |Center . Bore size (mm)
Mountin Basic | Foot ; Auto switch model
¢ flange |trunnion 125 140 160 180 200
Rod end nut [ o [ ) [ ) D-A5/A59W/F501/J500/F5NT
BT-12 | BT-12 | BT-16 | BT-18A | BT-20 |CJ1
2 |Singleknuckiejoint) @ | ® | @ | @ D-F500W/J59W/F5BA/F5C1F e —
@ | Double knuckle joint D-A3/A44/G39/K39 BS1-125 | BS1-140 | BS1-160 | BS1-180 | BS1-200 CJP
;5 (C\(I)V&?rk?#;skle ' @ | O | @ | @ * Stainless mounting screw set ==
p A set of following stainless steel mounting screws (including a set screw) is attached. (A
Rod boot e o o o switch mounting band is not attached. Please order the band separately.) CJ2
BBA1: D-A5/A6/F5/J5 —_—
“D-F5BA” switch is set on the cylinder with the screws above when shipped. CM2
When a switch only is shipped, “BBA1” screw is attached.
C85
Double Acting Double Rod Style/Replacement Parts (Seal kits) C76
Wh.en ordering the replacement p.arts (s.eal.kits) for Lube style CG1
Series CS1W double rod style cylinder, indicate Holder
the order number listed in the table on the right. Bore (mm) Kit No. Wiper ring | Rod seal |Piston seal|Valve seal |Tube gasket plate gasket MB
Each set of replacement parts contains the 125 | CSIW-1250PS | SDR-36 | P36 | P115 P7 C120 | G55  L——
following: wiper ring, rod seal, piston seal, valve 140 CS1W-140APS | SDR-36 P36 P130 p7 C135 G55 MB'I
seal, tube gasket, and push plate gasket
(for 1 cylinder). 160 CS1W-160A-PS | SDR-40 P40 P150 P7 C155 G55 e —
180 CS1W-180A-PS | SDR-45 P45 P165 P7 C175 G65 Cp95
200 CS1W-200A-PS | SDR-50 P50A P185 P7 C195 G65 e —
250 CS1W-250A-PS | SDR-60 P60 P235 P7 (CS160-1618-G4 G80 095
300 CS1W-300A-PS | SDR-70 P70 P285 P7 (S160-1618-G5 G90 e —
Non-lube style/Non-lube style with auto switch C92
Bore (mm) Kit No. Wiper ring | Rod seal |Piston seal|Valve seal |Tube gasket P'aT; Ig?aes:(et C A1
125 CS1WN125A-PS | SDR-36 | PNY-36 | NLP-125A P7 C120 G55
140 CS1WN140A-PS | SDR-36 | PNY-36 | NLP-140A P7 C135 G55 CS'I
160 CS1WN160A-PS | SDR-40 | PNY-40 | NLP-160A P7 C155 G55
180 CS1WN180A-PS | SDR-45 | PNY-45 | NLP-180A P7 C175 G65
200 CS1WN200A-PS | SDR-50 | PNY-50 | NLP-200A P7 C195 G65
250° CS1WN250A-PS | SDR-60 | PNY-60 | NLP-250A P7 (05160-1618-G4 G80
300° CS1WN300A-PS | SDR-70 | PNY-70 | NLP-300A P7 (05160-1618-G5 G90
* Auto switch type is not available.
Lube style with auto switch
Hol
Bore (mm) Kit No. Wiper ring | Rod seal [Piston seal|Valve seal |Tube gasket mateogd;:ket
125 CS1W125A-PS | SDR-36 P36 P115 P7 C120 G55
140 CS1W140A-PS | SDR-36 P36 P130 P7 C135 G55
160 CS1W160A-PS | SDR-40 P40 P150 P7 C155 G55
180 CDS1W180A-PS | SDR-45 P45 NLP-180A P7 C175 G65
200 CDS1W200A-PS | SDR-50 P50A NLP-200A P7 C195 G65
Air-hydro style
Bore (mm) Kit No. Wiper ring | Rod seal [Piston seal|Valve seal |Tube gasket plal;:aogﬁket
125 CS1WH125A-PS | SDR-36 | SKY-36 | RPS-125 P7 C120 G55
140 CS1WH140A-PS | SDR-36 | SKY-36 | RPS-140 P7 C135 G55
160 CS1WH160A-PS | SDR-40 | SKY-40 | RPS-160 P7 C155 G55
1.14-23

O
2



Series CST1W

Construction

Lube/Non-lube/With auto switch

Air-hydro

72032220 @

Non-lube

202263)23252)

oy

1G0/(9

.
)
)
o

P

Aluminum tube  Steel tubing

DPRP2DOD

@(82323

A

|

With auto switch

2125 to 160

|

2180, 2200

Aluminum tube Auto switch
Component Parts Seal List
No. Description Material Note L Part No.
No. Description | Mat'l

@ [Rod cover Rolled steel | Black coated 125 | 140 | 160 | 180 | 200 | 250 | 300

012510 ;"lg;i"”m Hard anodized Lube Style
@ |Cylinder tube zgg - 20 [Wiper ring SDR-36 | SDR-36 | SDR-40 | SDR-45 | SDR-50 | SDR-60 | SDR-70

o300 [seertabe. | Inside: Hardchrome plated 2)*| cushion seal DSM-50S | DSM-50S | DSM-50S | DSM-60S | DSM-60S | DSM-755 | PCS-85
(® |Piston Cast iron*™* 22 |Rod seal P36 P36 P40 P45 P50A P60 P70
@ |Piston rod A Carbon steel |Hard chrome plated 23 |Piston seal P115 P130 P150 P165 P185 P235 P285
@ Piston rod B Carbon steel |Hard chrome plated @ Valve seal P7 P7 P7 P7 P7 P7 P7
(® |Holder plate Cast iron Black coated NBR i i
5 TBusning peeT—— @ | Tube gasket c120 | c135 | C1s5 | C175 | C1os | G5180 | CSTE0
Valve guide Brass 28*| Piston gasket G25 G25 G25 G35 G35 G45 G45
@ Tie rod Carbon steel Chromed @7 |Holder plate gasket G55 G55 G55 G65 G65 G80 G90
Tie rod nut Rolled steel |Black zinc chromated 29| Guide gasket N-125-15 | N-125-15 | N-125-15 | N-42515 | N-42515 | N-125-15 | N-125-15
@D |Spring washer Steel wire  |Black zinc chromated Non-lube Style Seals except @ and @3 are the same as lube style.
(2 |Holder plate bolt Chrome-molybdenum steel | Black zinc chromated 22 |Rod seal NBR PNY-36 | PNY-36 | PNY-40 | PNY-45 | PNY-50 | PNY-60 | PNY-70
3 Spring washer Steel wire  |Black zinc chromated @ Piston seal NLP-125A | NLP-140A | NLP-160A | NLP-180A | NLP-200A | NLP-250A | NLP-300A
Cushion ring A Rolled steel | Zinc chromated Air-hydro Style Seals except @ and @ are the same as lube style.
@ Cushion valve Rolled steel | Electroless nickel plated 22 |Rod seal SKY-36 | SKY-36 | SKY-40
Spacer A Rolled steel @ Piston seal NBR RPS-125 | RPS-140 | RPS-160
@7 |Air releasing valve B| Rolled steel | Zinc chromated Lube Style (With switch) Seals except 3D are the same as lube style.
Air releasing valve A | Chrome-molybdenum steel No.| Description |Mat! Part No.
29 |Check ball Chrome bearing steel 180 200
Magnet — @D |Piston seal NBR| NLP-180A NLP-200A

#3% |n case of the aluminum tube of non-lube and air-hydro style, piston
material is an aluminum alloy casting.
In case of auto switch bore size 6180 and 6200, piston material
is aluminum alloy casting and tube material is aluminum alloy
(hard alumite).

1.14-24

Replacement Part (Seal kits)

* Refer to p.1.14-23 for replacement part no.(seal kits) of double rod style cylinder

series CS1W.

e Seal set does not include cushion seal, piston seal and guide gasket because
they are not replacement parts.

O

SVC




Air Cylinder/Double Rod Series CS1 W

Basic/CS1WB
Lube (CS1WB), Non-lube (CS1WBN), Air-hydro (CS1WBH)
Width across G BRI B & i
flats KA FA é_‘ c(PT) L }.i\fidllkicrossMM
MM ats
:r"..'.i — \
e g B
<
GrjClE ==y I
LT + t T
AL | ™ | AL
A |KI|F | N _-N___ F K A CJ1
H S+Stroke __H+Stroke oc —
ZZ+Stroke 0B CJP
With single rod boot CJ2
ZZ+¢+2 Stroke (With single gaiter) —
CM2
| T P
imine / C85
2 [ = | @ —
1 s Q C76
e Y L
_ CG1
| ¢ f L
h+¢
L me MB
MB1
With double rod boot
_ CP95
Width FA G 2Rc(P)P G FA — =
MM across flats KA | Width across MM P
N Ty faiska C95
- | | _ /f' —
wlo D_‘__I _(ﬁ,\\ B g o LW {‘E_ | {=] 092
alele -J_ @ '\‘T;( _ aj. 1 1G]
v £ . A
AL '; M AL
A_K [ e |t N] | N[t | erstroke KA CS1
h+¢ T S+Stroke h+¢+2 Stroke |
e = - =
| ZZ+2¢+2 Stroke |
(mm)
Bore Stroke range (mm)
Style
y! mm  [Worodboot W/ rodboot| A |AL| DB|OC| D | E |[EA| F |FA| G J K [KA| M MM N|P|S
Lube 125 t0 1000 | 3010 1000 | 50 | 47 | 145|115| 36 | 90 | 59 | 43 | 14 | 16 | M14X 15 | 15 |31 |27 | M30X 1.5 | 35 | 1 | 98
Non-lube | 140 t0 1000 | 30t0 1000 | 50 | 47 | 161|128 | 36 | 90 | 59 | 43 | 14 | 16 | M14X 1.5 [ 15|31 | 27 | M30X 1.5 | 35 | 1/ | 98
Air-hydro | 160 to 1200 | 30t0 1200 | 56 | 53 | 182|144 | 40 | 90 | 59 | 43 | 14 |185| M16X 1.5 | 17 | 36 [305| M36X 1.5 | 39 | 34 | 106
180 t0 1200 | 3010 1200 | 63 | 60 | 204 | 162 | 45 |115| 70 | 48 | 17 [ 185| M18 X 1.5 [ 20 | 41 | 35 | MAOX 1.5 | 39 | 34 | 111
Lube 200 t0 1200 | 3010 1200 | 63 | 60 | 226 | 182 | 50 | 115| 74 | 48 | 17 | 185| M20X 1.5 | 20 | 46 | 35 | M45X 1.5 | 39 | 3 | 111
Non-lube | 250 10 1200 | 30101200 | 71 | 67 | 277|225 | 60 | 140 | 86 | 60 | 20 | 23 | M24 X 1.5 | 25 | 56 [415| M56X2 |49 | 1 | 141
300 0 1200 | 30101200 | 80 | 76 | 330|270 | 70 | 140 | 96 | 60 | 20 | 23 | M30X 1.5 | 30 | 65 |51.5| M4 X2 |49 | 1 | 146
(mm)  With auto switch/e125 to 200 only (mm)
Bore | W/o rod boot W/ rod boot (Single side) (Both sides) W/o | W/Rod boot|W/ Rod boot
e | T = o el p 771 77 Style (‘?::) Stroke range (M) 1,4 hoot |(Single side)| (Both sides)
Lube | 125 |110[318[ 75 | 40 | 133 0.2 Stroke| 341 | 364 il Wit oot zZ | z z
Non-lube| 140 | 110|318 | 75 | 40 | 133 | 0.2 Stroke | 341 | 364 Lube | 125 |101000|30t01000 /98] 318 | 341 364
Air-hydro| 160 | 120] 846 | 75 | 40 | 141 [0.2 Stroke | 367 | sgs  or-lube 140 | t01000|%0t01000[{98| 818 | 341 | 364
i
180 | 135|381 | 85 | 45 | 153 | 0.2 Stroke | 399 | 417 y 160 | t01200| 30101200 106 346 | 367 | 388
Lube | 200 135381 90 | 45 | 153 |0.2 Stroke | 399 | 417 Lube | 180 |1t01200|30t01200|115| 385 | 403 | 421
Non-lube | 250 | 160 | 461 | 105 | 55 | 176 |0.17 Stroke| 477 | 493 Non-lube | 200 | t0998 | 30to9e [120] 390 | 408 | 426
«#+ Refer to p.1.10-8 for auto switch min. mountable stroke.
300 |175|496|115| 55 | 190 [0.17 Stroke| 511 | 526
1.14-25

O
2



Series CS1W

Foot/CS1WL

Lube (CS1WL), Non-lube (CS1WLN), Air-hydro (CS1WLH)

Width across

flats KA

ZZ+2 Stroke

- Rt
AKF|N,

AL

S+Stroke

FA'f]L 2-Re(PT)P

LS+Stroke

With rod boot

ZZ+¢+25troke (With single gaiter)
h+e

Width across

¥

_ flats KA

iy

 LH

— -
"] 1 g
°) : ﬂ | g
| ZZ+2¢+2 Stroke
(With double gaiter)
(mm)
Style ('?:r:f) W?::Z:;;?ﬁfré?;got A|AL| B |OC| D | E |EA| F |FA| G J K |KA|LD|LH|LS|LT
Lube 125 to 1000 | 30t0 1000 | 50 | 47 | 145|115 | 36 | 90 | 59 | 43 | 14 | 16 | M14X15| 15 | 31 | 19 | 85 |188| 8
Non-lube 140 to 1000 | 30t0 1000 | 50 | 47 | 161|128 | 36 | 90 | 59 | 43 | 14 | 16 | M14X15| 15 | 31 | 19 | 100|188 | 9
Air-hydro 160 to 1200 | 30t0 1200 | 56 | 53 | 182|144 | 40 | 90 | 59 | 43 | 14 [18.5| M16X1.5 | 17 | 36 | 19 | 106|206 | 9
180 to 1200 | 30t0 1200 | 63 | 60 | 204 | 162 | 45 |115| 70 | 48 | 17 [18.5| M18X1.5 | 20 | 41 | 24 | 125|231 | 10
Lube 200 to 1200 | 30t0 1200 | 63 | 60 | 226 | 182 | 50 | 115| 74 | 48 | 17 |18.5| M20X1.5 | 20 | 46 | 24 | 132|231 | 10
Non-lube 250 to 1200 | 30t01200 | 71 | 67 | 277 |225| 60 | 140 | 86 | 60 | 20 | 23 | M24X1.5 | 25 | 56 | 29 | 160 | 301 | 12
300 to 1200 | 30t0 1200 | 80 | 76 | 330|270 | 70 | 140| 96 | 60 | 20 | 23 | M30X1.5 | 30 | 65 | 33 | 200|326 | 15
(mm)
Bore W/o rod boot W/ rod boot (Single side Both sides
Style (mm) LX) LY MM NP IS | XY T2 e f h( gt )zz (zz)
Lube 125 100 | 1575 |M30 X 1.5| 35 | 1/2 | 98 | 45 | 20 | 110 | 318 | 75 | 40 | 133 | 0.2 Stroke | 341 | 364
Non-lube 140 112 | 180.5 [M30 X 1.5| 35 | 1/2 | 98 | 45 | 30 | 110|318 | 75 | 40 | 133 | 0.2 Stroke | 341 | 364
Air-hydro 160 118|197 |[M36 X 1.5| 39 | 3/4 [ 106 | 50 | 25 | 120 | 346 | 75 | 40 | 141 |0.2 Stroke | 367 | 388
180 132 | 227 (M40 X 1.5| 39 | 3/4 | 111 | 60 | 30 | 135|381 | 85 | 45 | 153 | 0.2 Stroke | 399 | 417
Lube 200 150 | 245 |M45X 1.5| 39 | 3/4 | 111 | 60 | 30 | 135|381 | 90 | 45 | 153 | 0.2 Stroke | 399 | 417
Non-lube 250 180 | 2985 | M56 X2 | 49 | 1 |141| 80 | 40 | 160 | 461 | 105 | 55 | 176 |0.17 Stroke | 477 | 493
300 212|365 | M64X2 | 49 | 1 [146| 90 | 40 | 175|496 | 115 | 55 | 190 |0.17 Stroke| 511 | 526
With auto switch/0125 to 6200 only (mm)
Shle (?:])rrne) Stroke range (mm) s | s W/o rod boot (st|/n g:g ls)i(c)i%t) x;lé trt?(;izzzt)
W/o rod boot | W/rod boot 72z zz zz
Lube 125 to 1000 | 30t0 1000 | 98 | 188 318 341 364
Non-lube 140 to 1000 | 30to 1000 | 98 | 188 318 341 364
Air-hydro 160 to 1200 | 301t0 1200 | 106 | 206 346 367 388
Lube 180 to 1200 | 30to 1200 | 115 | 235 385 403 421
Non-lube 200 t0998 | 3010998 | 120 | 240 390 408 426
##%% Refer to p.1.10-8 for auto switch min. mountable stroke.
1.14-26 % SVC



Front Flange/CS1WF

Air Cylinder/Double Rod Series CS1 W

Lube (CS1WF), Non-lube (CS1WFN), Air-hydro (CS1WFH)

‘Width across ! J
flats KA FA G 2-Rc(PT)P G, _FA . 0B ' 4-0FD
™ Width across | e
_MM i’ flats KA . —| '
) S SHHI=—== =aks | MM |
1—].—"‘—\‘ & ; A . .
<T b << o H
I'u“-'|m! - 1% %uéla_?:g 5 : +
SsyS4 i i l : ! : N\
I T ‘1“ _[ :T'— 1 @_E e - E CJ1
IR: = B N o T o =
[| I|FT [M| 521 .
T A KIF | N N| F ' K CJP
ot f—t—— t
H B S+Stroke H+Stroke FX —
I ZZ+2 Stroke FzZ : CJ2
CM2
With rod boot
C85
ZZ++2 Stroke  (With single gaiter) C76
CG1
8 = —
1 i MB
MB1
¢ f e —
i CP95
ZZ+2¢+2 Stroke I
(With double gaiter)
(mm) C95
Style Bore | Stokerange (mm) ||\ | o | g oo o | E [EA| F | FA D | FT | Fx | FY | FZ | G J Cc92
i (mm) | W/o rod boot |W/ rod boot
Lube 125 to 1000 | 30101000 | 50 | 47 | 145|145 |115| 36 | 90 | 59 | 43 | 14 | 19 | 14 | 190 | 100|230 | 16 | M14X 1.5 CA1
Non-lube 140 to 1000 | 30t0 1000 | 50 | 47 | 160 | 161 [ 128 | 36 | 90 | 59 | 43 | 14 | 19 | 20 | 212 | 112|255 | 16 | M14X 1.5
Air-hydro 160 to 1200 | 30t0 1200 | 56 | 53 | 180|182 144 | 40 | 90 | 59 | 43 | 14 | 19 | 20 | 236 | 118 | 275 [18.5| M16 X 1.5 CS1
180 to 1200 | 30101200 | 63 | 60 | 200 | 204 | 162 | 45 | 115| 70 | 48 | 17 | 24 | 25 | 265 | 132 | 320 |18.5| M18 X 1.5
Lube 200 to 1200 | 30t0 1200 | 63 | 60 | 225|226 | 182 | 50 |115| 74 | 48 | 17 | 24 | 25 | 280 | 150 | 335 [18.5| M20 X 1.5
Non-lube 250 to 1200 | 30101200 | 71 | 67 | 275|277 |[225 | 60 | 140 | 86 | 60 | 20 | 29 | 30 | 355|180 | 420 | 23 | M24 X 1.5
300 to 1200 | 30101200 | 80 | 76 | 330 | 330|270 | 70 | 140 | 96 | 60 | 20 | 33 | 30 | 400|212 |475| 23 | M30X 1.5
(mm)
Bore W/o rod boot W/ rod boot (Single side) (Both sides)
Style
v (mm) K KA M MM S H|zz| e f h ¢ 7z | z2Z
Lube 125 15 | 31 | 30 |[M30X1.5| 35 | /> | 98 | 110|318 | 75 | 40 | 133 | 02Stoke | 341 | 364
Non-lube 140 15 | 31 | 24 |M30X1.5| 35 | > | 98 | 110|318 | 75 | 40 | 133 | 02Stoke | 341 | 364
Air-hydro 160 17 | 36 | 26 |M36X1.5| 39 | % | 106 | 120 | 346 | 75 | 40 | 141 | 02Stoke | 367 | 388
180 20 | 41 | 31 [M40X 15| 39 | % | 111 135|381 | 85 | 45 | 153 | 0.2Stoke | 399 | 417
Lube 200 20 | 46 | 31 |[M45X 15| 39 | %4 | 111 (135|381 | 90 | 45 | 153 | 0.2Stroke | 399 | 417
Non-lube 250 25 | 56 | 35 | M56X2 | 49 | 1 |141|160|461|105| 55 | 176 | 017Stoke | 477 | 493
300 30 | 65 | 48 | M64X2 | 49 | 1 |146| 175|496 |115| 55 | 190 | 0.17Stoke | 511 | 526
With auto switch/o125 to 6200 only (mm)
Strok W/o W/ rod boot|W/ rod boot
Style (B°re) roke range (mm) || 4 hoot |(Single side)|(Both sides)
mm
W/o rod boot | W/ rod boot Y74 Y4 7z
Lube 125 to 1000 | 30to 1000 | 98 318 341 364
Non-lube 140 to 1000 | 30to 1000 | 98 318 341 364
Air-lube 160 to 1200 | 30to 1200 | 106 346 367 388
Lube 180 to 1200 | 30t0 1200 | 115 385 403 421
Non-lube 200 t0998 |30t0998 | 120 390 408 426
=+ Refer to p.1.10-8 for auto switch min. mountable stroke.
1.14-27

O
2



Series CST1W

Center Trunnion/CS1WT

Lube (CS1WT), Non-lube (CSTWTN), Air-hydro (CS1WTH)

g Z+1/2 Stroke Z+11/2 Stroke
N FA_ G 2-Re(PT)P G .
MM 3 — 1'—4 :I'\;glr;(:cmss M
IR = = N \
R e — O 9 EEE
AL M AL
A KIF|N TT N|F Kl A
H S+Stroke H+Stroke
ZZ+2 Stroke
Z+¢+1/2 Stroke
sJ
ZZ+¢+2 Stroke (With single rod boot)
ZZ+2¢+2 Stroke (With double rod boot)
(mm)
Style (?Tc]’r:]e) W?::::o;?rﬁfrg:gm A |AL|OB|oOc| D | E |EA| F |[FA| G J K [KA| M MM N|P|[R|S
Lube 125 25101000 | 30t0 1000 | 50 | 47 [145|115 |36 | 90 | 59 | 43 | 14 | 16 | M14X15| 15 | 31 | 19 [M30X15|35 | /o | 1 | 98
Non-lube 140 3001000 | 30t0 1000 | 50 | 47 [161|128 | 36 | 90 | 59 | 43 | 14 | 16 |M14X15| 15 [ 31 | 19 | M30X1.5| 35 | /> | 1.5 | 98
Air-hydro 160 3510 1200 | 3510 1200 | 56 | 53 [182| 144 | 40 | 90 | 59 | 43 | 14 |185|M16X15| 17 | 36 | 22 | M36X 15| 39 | %4 | 1.5 | 106
180 3001200 | 30t0 1200 | 63 | 60 [204| 162 | 45 | 115| 70 | 48 | 17 | 185 | M18X 15| 20 | 41 | 26 | M4OX1.5| 39 | 3/, | 2 | 111
Lube 200 3010 1200 | 3010 1200 | 63 | 60 (226|182 | 50 | 115 | 74 | 48 | 17 [ 185|M20X1.5| 20 | 46 | 26 |M45X 15|39 | 3/, | 2 |111
Non-lube 250 | 30101200 | 30101200 | 71 | 67 |277|225| 60 | 140 | 86 | 60 | 20 | 23 | M24X 15| 25 | 56 | 30 |[M56 X2 | 49 | 1 | 3 |14
300 35101200 | 35101200 | 80 | 76 |330|270 | 70 | 140 | 96 | 60 | 20 | 23 |M30X 15| 30 | 65 | 36 [M64 X2 |49 | 1 | 4 | 146
(mm)
Bore W/o rod boot W/ rod boot (Single side) (Both sides)
Style (mm) TDes | TT|TX|TY |TZ| H — 7T Tt [n p = 1= —
Lube 125 32358 | 50 | 170|164 |234|110|159|318| 75 | 40 | 133 | 0.2 Stroke | 182 | 341 | 182 | 364
Non-lube 140 36355 | 55 [ 190|184 262|110 | 159|318 | 75 | 40 | 133 0.2 Stroke | 182 | 341 | 182 | 364
Air-hydro 160 40383 | 60 | 212|204 | 292|120 | 173|346 | 75 | 40 | 141 | 0.2 Stroke | 194 | 367 | 194 | 388
180 453% | 59 | 236|228 326|135 (1905|381 | 85 | 45 | 153 | 0.2 Stroke | 2085 | 399 | 2085 | 417
Lube 200 4525039 59 | 265|257 (355|135 | 1905|381 | 90 | 45 | 153 | 0.2 Stroke | 2085 | 399 | 2085 | 417
Non-lube 250 563%2 | 69 | 335|325 | 447|160 | 2305 | 461 | 105 | 55 | 176 | 0.17 Stroke | 2465 | 477 | 2465 | 493
300 673932 | 79 | 400|390 |534 | 175|248 | 496 | 115 | 55 | 190 | 0.17 Stroke | 263 | 511 | 263 | 526
Auto switch style/g125 to 200 only (mm)
W, W/ rod boot|W/ rod boot
Style (Br:;S DS IEENl) s | rod t/Jzot (Single side) | (Both sides)
\W/o rod boot| W/rod boot Z |22 | Z | Z2Z Y74
Lube 125 2510 1000 | 30 to 1000 | 98 | 159 | 318 | 182 | 341 364
Non-lube 140 30 to 1000 | 30 to 1000 | 98 | 159 | 318 | 182 | 341 364
Air-lube 160 | 35101200 | 35t0 1200 | 106 | 173 | 346 | 194 | 367 | 388
Lube 180 30 to 1200 | 30 to 1200 | 115 | 1925 | 385 | 2105 | 403 | 421
Non-lube 200 3010998 | 3010998 | 120 | 195 | 390 | 213 | 408 426

=i+ Refer to p.1.10-8 for auto switch min. mountable stroke.

1.14-28

O



Air Cylinder/With Auto Switch Series CSTW

Auto Switch Mounting Position and Mounting Height

<Band mounting>

D-A3
D-G39/K39

D-A4

<Tie rod>
D-A5/A6

D-F500/J500/F5NTL

D-F5BAL/F50IF
D-F5C0W/J59W

56

37

=Ht

Applicable cable 0.0
G(PF) 12 (a?&ﬁi :9.6 ‘ )

— e

| coP
136 | G(PF) 12 (amere: %) cJ2
A 345 / B B
T cm2
I cs5
= b o
— CGi
36 —
A 36] &
=5 pRs ] MBT
o N CP95
— @ EE C:
- — 95
o s o v
| - C92
33 /B e
A_30(3C CA1
| - ~At
HEE . LR CS1
= : =
] i %s‘ : dE'__
1ot ==
1 =
1 l—-q_:m .
=2 LH 1B

( ) shows D-F5LF

Auto Switch Mounting Height (mm) Auto Switch Mounting Height (mm)
Auto switch D-A5 D-F50C]1
"B D50 | DusoW 043 oAs | BESw
D-A44 | D-ASOW | D5 | ppsgaL | D-FSNTL D-G39 D-A44 D-A6 pinio ol
D-G39 D-F50F D-K39 D-ASSW | p-F5CIF
Bore D-K39 D-F5NTL
A | B | A|B|A|B|A|B|A]|B Hs Hs Hs | Ht | Hs | Ht
0125 0 | o | 2 | 2 |45 |45 | 85| 85 | 95 | 95 116 126 75.5 | 69.5 | 745 | 70.0
0140 0 | o | 2 | 2 |45 |45 |85 | 85| 95| 95 124 134 81 | 765 | 80 | 765
0160 0o | o | 2 | 2 |45 | 45|85 | 85| 95| 95 134.5 144.5 89 | 875 | 88 | 875
0180 35 | 1.5 | 75 | 55 | 10 | 8 | 14 | 12 | 15 | 13 144 154 97.0 | 975 | 9% | 975
2200 6 4 10 8 125 | 105 | 165 | 145 | 175 | 155 154 164 107.0 | 108.0 | 107.5 | 108.0
1.14-29

O
2



Air Cylinder/Low Friction

Series CS1

Non-lube/o125, 9140, 2160

How to Order

With auto switch

Mounting e——————

Basic

Foot

Front flange
Rear flange
Single clevis
Double clevis
Centre clevis

=H00®|m|ir m

Low friction

160— 300

JR

I I

I

160300

1O—0

JR—A53

Bore size ¢
125 | 125mm
140 | 140mm
160 | 160mm

Cylinder stroke (mm) ¢

m Refer to p.1.14-31 for the standard stroke.

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

1Number of auto switches
| 2

S |w|n|]

1
| 3
n

¢ Auto switch

[ Without auto switch

* Select the applicable auto switch from
the table below.

*Rod boot/Cushion

J  |Nylon tarpaulin
Rod boot ™™ THeat resistant tarpaulin
A With double cushion
. R | With Front cushion
h
Cushion H |With rear cushion

Without cushion

# |f specifying more than one symbol, please
indicate them in alphabetical order.

] Load voltage Auto switch model | Lead wire (m)™ —
. . Electrical | ©| Wiring pplicable
Style| Special function entry g (output) De AC Tierod| Band 0.5 | 3| 5 [None| load
£ =) |[O[@)
3 wire _ J J—
| Epictohey | — | 5V — A56 [ N J IC
> 12V — A53 — ® 00 — PLC
- Grommet — —_|
S || 12V | 100V, 200V | A54 e o e Relay, PLC
H - ° 5V, 12v| — A67 — ® | ®—|—| IC PLC
n z — T
B owire |pay[12Y_| <200V A64 [ K Relay, PLC
& Terminal — — A33 — || |e PLC
conduit | o 12V A34 —|—|—]|®| —
DIN terminal| > 100V, 200¢ Ad4 — -1-1e E&Efg,
Diagnostic indication (2 colour)|Grommet — — A59W — o0 —|—
3 wire (NPN —
wire )24\/ sv.1v| — F59 ® @0 O c
Grommet| |3 wire (PNP) F5P = ® 0 o —
o — | — [100v,200v | J51 — ® @0 O|—
I wire -
< 12V J59 — ® |0 O|—
& Terminal 3 wire (NPN) 5V, 12V — G39 — |[—|—|@®@] Ic
H conduit | @ | 2 wire 12v — | K39 [ —[—|—|®| —
() > — —
2 3 wire (NPN) F59W ® @ O Relay,
S |pi ic indicati 5V, 12V IC
® D'agn?zs'ézl';‘g;)ca"°” 3 wire (PNP), FsPw| — | @ [@|o]— pLC
2 o 24y | [wsw] — [ele[o]-]
O Water resistant (2 colour)Grommet wire F5BA — ® @0 O —
With timer 3 wire (NPN F5NT — O|—
P S—— |3 vire (NPN) 5V, 12V LI J IC
th diagnostic output (2 colour] 4 wire (PNP) F59F — o |®0|—
Latch with diagnostic output _ _ | —
(2 colour) F5LF ® 0 O
+ Lead wire length 0.5m == — (Example) A53 = Solid state auto switch marked "O" is manufactured
3m e L A53L  upon receipt of order..
5m oo z A53Z
None - N A33N

1.14-30

O
z



Designed with a low sliding

resistance of the piston, this

air cylinder is ideal for

applications such as contact

pressure control, which

Air Cylinder/Low Friction Series CS11Q)

Application Example

A low friction cylinder is used in combination with a precision regulator (Series IR, etc.).

Winding roller

Precision regulator

Precision regulator

requires smooth movements @4 70‘”
at low pressures. (Moving object) D
-~ . CJP
Low sliding resistance e —
Min. operating pressure — 0.005MPa ‘_'—h CJ2
. . ces CM2
Auto switch mounting Specifications ===
= = Action Double acting single rod 085
IS pOSSIbIe' Direction of low friction Both directions —
Fluid Air C76
Proof pressure 1.05MPa —
Max. operating pressure 0.7MPa CG1
Min. operating pressure 0.005MPa* MB
; ; Without auto switch: 0 to 70°C (No condensation),
Ambient and fluid temperature With auto switch: 0 to 60°C (No condensation) —
Allowable leakage rate 0.5 ¢/min(ANR)or less MB1
Cushion None (Cushion style is available.)
Thread tolerance JIS 2 class CP95
Lube Not required (Non-lube) 095
Bore size (mm) 2125, 9140, 2160 —
Mounting . Basic, Fpot, Front flange, Rear flange,. 092
Single clevis, Double clevis, Centre trunnion e ——
* |n case of cushion style, pressure inside cushion stroke is not included. CA1
JIS symbol Max. Stroke (mm) P,
Double acting Tube material Aluminum alloy Carbon steel
Mounting | Basic, Rear Basic, Rear flange,
bracket gfg:/?se ’E?cl)r:%li Front flange Single clevis, foot, [Front
| I Bore size clevis, Centre g Double clevis, flange
(mm) trunnibn Centre trunnion
125 1000 or less 1400 or less 1000 or less 1600 or less
140 1000 or less 1400 or less 1000 or less 1600 or less
— 160 1200 or less 1400 or less 1200 or less 1600 or less
orde
Made to Order .
Mounting Bracket Part No.
Refer to p.5.4-1 for made to order Bore size (mm) 125 140 160
specifications for series CS10Q. Foot* CS1-L12 CSi-L14 CS1-L16
Flange CS1-F12 CS1-F14 CS1-F16
H Single clevis CS1-C12 CS1-C14 CS1-C16
/!\ PrecaUtlons Double clevis CS1-D12 CS1-D14 CS1-D16
= Order 2 foot brackets for one cylinder.
e i i
I Be sure to read before handling.: Auto Switch Mounting Bracket Part No.
Refer to p.0-39 to 0-43 for Safety , Bore size (mm)
1 . 1 Auto switch model
1 Instructions and common 1 125 140 160
1 precautions. 1 D-A5/A6/A59W/F501/J500/FSNTL : : .
| D-F50W/J59W/F5BAL/D-F50F BT-12 BT-12 BT-16

Refer to the standard style double acting
single rod (Series CS1) on p.1.14-7 for
auto switch specifications of low friction style.

* Stainless mounting screw set
Q A set of following stainless steel mounting screws (including a set screw) is attached. (A
switch mounting band is not attached. Please order the band separately.)
BBA1: D-A5/A6/F5/J5
“D-F5BAL” switch is set on the cylinder with the screws above when shipped.
When a switch only is shipped, “BBA1” screw is attached.

O

SVC

1.14-31



Series CS11Q

Accessories Rod Boot Materials
- Dot | Fep Front | Rear | Single | Double | Center Symbol Material Max. ambient temp
ounting 2slc c0 flange | flange | clevis | clevis |trunnion J Nylon tarpaulin 60°C
Std. equipment | Clevis pin — — — — — [ J — K |Heat resistant tarpaulin 110°C*
Rod end nut [ ) [ ) [ ) [ ] [ ] [ ] [ ] * Max. ambient temperature for the rod boot itself.
Single knuckle joint o o [ o o [ ] o
Accessory | poyple knuckle joint
) o o | o o | o o | o
(Knuckle pin, Cotter pin)
Rod boot [ [ { [ J ([ J [ J [ J
Major Material and Surface Treatments
Description Material Note
Cover Rolled steel Coated black
Aluminum alloy * Hard anodized
Tube

Carbon steel pipe

Inside: Hard chrome plated

Sliding part seal

NBR

PNY, NLP

Piston rod

Carbon steel

Hard chrome plated

Piston

Aluminum alloy cast

Chromated

* With auto switch

Weight/Steel tube (Refer to p.1.14-4 for aluminum tube [With auto switch].) (kg)
Bore size (mm) o125 0140 0160
Basic 15.20 18.38 25.24
Foot 16.83 20.90 28.04
Front flange 17.88 23.38 31.63
Basic weight | Rear flange 17.88 23.38 31.63
Single clevis 18.27 22.67 30.73
Double clevis 18.73 23.42 31.58
Trunnion 19.33 2411 32.64
Additional weight per 100 stroke 2.66 3.01 3.58
Accessory Single knuckle joint 0.91 1.16 1.56
Double knuckle joint (with pin) 1.37 1.81 2.48

Calculation example: CS1LQ160, 500(Foot, 5160)

®Basic weight «--eveeeeee 28.04

®Additional weight - 3.58/100 stroke

OCylinder stroke -+ 500 stroke
28.04+3.58 X 500/100=45.94kg

Sliding Resistance

2125
2140

0.010

//6160

\l
\

0.005

Sliding resistance (MPa)
(Convert to cylinder working pressure.)

0.2

0.3

0.4 0.5

Pressure (MPa)

0.6

0.7

1.14-32

O
z



Construction

Air Cylinder/Low Friction Series CS11Q)

Non-lube
®
| T
CJi
CJP
CJ2
CMm2
Component Parts Seal List C85
No. Description Material Note No. Description Mat'l Eaiilic
125 140 160 C76
©) Rod cover Rolled steel plate Black coated ® | Wiper ring SFR-36K | SFR-36K | SFR-40K ===
@ Head cover Rolled steel plate Black coated Cushion seal* DSM-50S | DSM-50S | DSM-50S CG1
® Cylinder tube Aluminum alloy* Hard anodized 20 Rgd seal PNY-36 PNY-36 PNY-40
Carbon steel pipe Hard chrome plated @) | Piston seal NLP-125A | NLP-140A | NLP-160A MB
@ Piston Aluminum alloy die cast Chromated @2 | Valve seal NBR P7 P7 pP7
® Piston rod Carbon steel Hard chrome plated 23 | Tube gasket C120 C135 C155
® Holder plate Cast iron Black coated @4 | Piston gasket G25 MB1
@ Bushing Lead bronze casting @5 | Holder plate gasket G55
Valve guide Brass 26 | Guide gasket N-12.5-1.5 CP95
©) Tie rod Carbon steel Chromated *#Itis used in case of cushion style only. =S
@ | Tie rod nut Rolled steel Black zinc chromated C95
(D) Spring washer Steel wire Black zinc chromated . . . . Q = ————
2 | Holder plate bolt | Chrome-molybdenum steel| Black zinc chromated According to Mounting Brackets/Dimensions C92
(] Spring washer Steel wire Black zinc chromated Refer to dimensions of the standard style on p.1.10-12 to 1.10-18 for | ==—=x=
Cushion ring A Rolled steel Zinc chromated those with mounting brackets except the basic style. CA1
(5] Cushion ring B Rolled steel Zinc chromated
(B) Cushion valve Rolled steel Nickel plated
17 Wear ring Resin CS1

* With auto switch

Basic/CS1BQ
e G 2-Rc(PT)P G g
idth across flats
| : R == @ | @
/x/.““@\
= ©
3 © @ NN
N4,
' 2=
1 = <
N LN |
S+Stroke M |_ ac
ZZ+Stroke OB
(mm)
Bore | Stokerange) | ) | o |oc| b | E | F | @ J K | KA | M | mm N|P|s|H]|z
(mm) (mm)
01000 | 50 | 47 | 145 | 115 | 36 | 90 | 43 | 16 |M14X 15| 15 | 31 | 27 |[M30x1.5| 35 | ' | 98 | 110 | 235
01000 | 50 | 47 | 161 | 128 | 36 | 90 | 43 | 16 |M14X 15| 15 | 31 | 27 |[M30X1.5| 35 | % | 98 | 110 | 235
101200 | 56 | 53 | 182 | 144 | 40 | 90 | 43 | 185 |M16X 1.5 17 | 36 | 30.5 |M36X1.5] 39 | % | 106 | 120 | 2565
1.14-33

O
2






